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SRAREPNE-E=DN [
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S9l: RZH ASAIY =X (S &)
SN B S(SA) - HRAY - BES 0l & 24 plE-T" HlmE2

X< Z A 2,042,807 1,905,522 137,285

= 262,700 217,100 45,600

& 16,000 16,000 0

Al 1,764,107 1,672,422 91,685

1,665,506 1,517,586 147,920

= 57,150 11,550 45,600

& 16,000 16,000 0

Al 1,592,356 1,490,036 102,320

485,300 425,980 59,320

= 11,550 11,550 0

Al 473,750 414,430 59,320

1,470 5,880 24,410

1,470 5,880 24,410

o 1,470 5,880 24,410

OSHELHRE 243 1,470,000& 1,470 5,880 24,410

SIters 30,130 12,000 18,130

301 L2 Az 29,030 10,900 18,130

12 JIEt2 &3 25,570 7,440 18,130

OSHELIHRE 242 70,0002 x37E+7& 18,130 0 18,130

KNSZH AR =& 250,270 197,370 52,900

203 JR=&H] 27,900 35,000 AT7,100

03 AIMFAHRZ=EY| 27,900 35,000 AT7,100

OXNSAN g4dst JRFA 27,900,000& 27,900 35,000 27,100

402 QI2HXHE0IH 200,000 140,000 60,000

01 SIZt=E2EX 200,000 140,000 60,000
O& &JIE=2 USRI A =8

20,000, 0002 = 1070 At 200,000 140,000 60,000

S0t X 2tel 2,100 9,400 27,300

203 ZRF=&H] 0 1,000 A 1,000

03 AIBFXHRZ=EY| 0 1,000 A1,000

O2Jt & HUX gRF o 0 1,000 A1,000

301 LetEas 2,100 8,400 26,300

12 JIEt2 43 2,100 8,400 26,300

O2J2LIHRA 243 2,100,000& 2,100 8,400 26,300

MeHAIE &43st D8t 25 80,867 37,867 43,000

MeHAlE &4dst 50,960 10,960 40,000

307 QIZtolA 40,000 0 40,000

02 IZtAAS X 40,000 0 40,000

OTHHAIZ SIS ALS 40,000,000 40,000 0 40,000

HMOIRE SHAY X 3,000 0 3,000
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NSZH gdat
HeiAl & gd3t

A - HRA(SH) - NIRAIY - BES 0f] &FoH Il & Hluws2
307 QI2H0|H 3,000 0 3,000
02 ItA A X 3,000 0 3,000
OAZELAIT AQIEX SHAI
1,500, 0002 * 102 *20% 3,000 0 3,000
AV ASS B2 2 22U=X SH 1,099,339 1,053,739 45,600
= 45,600 0 45,600
= 16,000 16,000 0
Al 1,087,739 1,087,739 0
X ARIR &t 25t 45,600 0 45,600
= 45,600 0 45,600
307 QI2+0|A 45,600 0 45,600
=2 45,600 0 45,600
02 DItAAE X 45,600 0 45,600
OLAIESAS T2 29(HYXN)
45,600,000 45,600 0 45,600
= 45,600 0 45,600
NEEY TS 28,329 35,364 AT7,035
=2 11,550 11,550 0
Al 16,779 23,814 7,035
ZA012 L THRHAIR A5 28,329 35,364 AT7,035
= 11,550 11,550 0
Al 16,779 23,814 7,035
SIEA L DLEQY 29 8,925 15,960 AT7,035
301 YPrEAa 8,925 15,960 7,035
12 JIEtR A2 8,925 15,960 27,035
OSIHZUHRY BA3 8,925,000 8,925 15,960 AT7,035
NS HAY (KA ZHD) 54,348 60,060 A5, 712
ol 29| 3,780 4,200 420
22| 3,780 4,200 420
203 LP=FY| 3,780 4,200 420
04 BASHYL=AY| 3,780 4,200 420
O VE-T=EEFS[t] 350, 00021 * 122 *90% 3,780 4,200 2420
=2 50,568 55,860 A5,202
ust2 o] 23,352 25,620 2,268
201 Yer2y)| 23,352 25,620 N2,268
01 Al 21,852 24,120 N2,268
ORA2gI| 22| 20,412 22,680 2,268
— Uy 50,0002 %21 %4 * 122 *90% 11,340 12,600 1,260
—2a 40,0008 %21 %+ 122 *90% 9,072 10,080 ~1,008
] 27,216 30,240 ~3,024
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&2l Jl=3Hl

SN BB S(EA) - MRAY - BES 0l &t p[E-F"
202 01| 27,216 30,240
01 =ZLHoiH 27,216 30,240
HPEZTI|Z0H 120,000 %212 * 122 x00% 27,216 30,240

e s s(XHHH D) 2,112

ERSINES 2,112 0
BHE 2| E} 2,112 0
802 EHEH2IIE 2,112 0
NIEREES=C 1,689 0
O/AEZAAIR AYAIL £2|  1,688,0408 1,689 0
02 Al - CHIEXZ2ua2 423 0
O/REZUAIR AUAIL 22 422,0102 423 0




